
Supplementary Table S1: Calculation of freeze-dried fiber mass using calibration curve
	Sample
	Volume loaded (µL)
	Total protein density of 9 µL (AU)
	Total protein density of 1 fiber (10 µL) (AU)
	Fiber mass (µg)
	 

	Sample 1 Type I
	9
	4622856
	5136507
	4.5
	 

	Sample 2 Type II
	9
	3783953
	4204392
	3.6
	 

	Sample 3 Type I
	9
	4288818
	4765353
	4.1
	 

	Sample 4 Type II
	9
	3088205
	3431339
	2.9
	 

	
Human homogenate mixed sample (µg):
	
	
	
	
	 

	2.5
	1
	2937356
	
	
	 

	5
	2
	5393786
	
	
	 

	10
	4
	11324628
	
	
	

	20
	8
	22685175
	
	
	

	40
	16
	44081909
	
	
	 

	
	 
	
	
	
	 

	
	Slope
	1102134
	Mean fiber mass
	3.8
	 

	
	y-intercept
	201500
	SD
	0.7
	 



Procedure
1. Separate 9 µL for each fiber-type specific sample along with a 4-point calibration curve, which is a mixture of human muscle homogenates of known muscle mass (µg of wet weight), using SDS-PAGE.
2. To attain the total protein in each sample from the gel, UV activate in the gel imager.
3. Using the density values and amount of sample loaded (µg), calculate the slope and y-intercept for the line-of-best fit. 
4. As 1 fiber was placed in 10 µL of denaturing buffer, the density value from the gel image represents 9/10th of a fiber. Therefore, the density of 1 fiber = (total density of 9 µL × 10) ÷ 9.
5. Rearrange the equation of the line () to determine the fiber mass (µg)/x-values, y is the total protein density (A.U.), m is the slope of the line and c is the intercept on the y-axis. The rearranged equation is x = (y – c) ÷ m.
For example, Sample 1 type I fiber mass = (5136507 − 201500) ÷ 1102134 = 4.4 µg wet weight for a 1 mm long fiber. 

From this analysis, the mean fiber mass for a 1 mm freeze-dried fiber was ~4 µg wet weight, so a 3 mm fiber would be ~12 µg. Note that the mass of a fiber is determined without knowing the fiber diameter (r2), which influences the measurement of fiber size much more than the fiber length (l), using the formula fiber volume = πr2l. However, the diameter cannot be assessed using a dissecting microscope.
